

दिल्ली विकास प्राधिकरण उप-निदेशकं कार्यालय, उद्यान खण्ड - तृतीय बी2बी, जनकपुरी, नई दिल्ली-110058



संख्या. F54 (08) DD/Hort. III/DDA/2023-24/ 1055

दिनाँकः 06/09/2023

To

M/S MAHESH CHAND GUPTA, POCKET D6, HOUSE NO. 360, 1ST FLOOR SECTOR 6, ROHINI, NEW DELHI-110085.

Name of work: M/o complete scheme of N/A – II under SWZ.

M/o Distt. Park at M-Block Vikas Puri.2. M/o Sports Field at C-Block, Vikaspuri.3. M/o Park Sanitary Land Fill Pit No. 2 Hastsal Ph. II.4. M/o M.P. Green Area Mango Orchard at SayedNangloi Ph.-I, II & III.5. M/o Distt. Park at G-17 Paschim Vihar at SayedNangloi Village.6. M/o Aff. M.P. Green Area at Hastsal Ph.-I.7. M/o Sports Field at Hastsal Ph.-II.

Sub Head: S/S of Good earth, Jamuna sand, Digging of holes, etc. at site.

Ref.: FDR/Bank A/c No. 21180300059532 and FD Advice No. FDR2308230258 dated 23-08-2023 Amount Rs. 115000/- From Bank Of Baroda, Naharpur Branch, Sec-7, Rohini, Naharpur, New Delhi-110085.

दि.वि.प्रा की ओर से उपर्युक्त कार्य के लिए आपके द्वारा उद्धृत मद/प्रतिशत दर निविदाएं निम्नानुसार स्वीकार की गई हैं:-

अन्मानित लागत 📑

₹ 47,38,055.00/-

ठेकेदार उद्धृत राशि

₹ 21,68,520.00/-

₹21,68,520.00/- (रु इक्कीस लाख अइसठ हजार पांच सौ बीस

स्वीकृत निविदा राशि

केवल

निविदा का प्रतिशत

54.23% (अनुमानित लागत से नीचे).

समय की अन्मति

30 दिन

खंड (clause)-12 के प्रयोजन हेतु ली जाने वाले मद/कार्य डी.एस.आर-2020/बाजार दरों के आधार पर 54.23% नीचे है। आपसे अनुरोध है आप इस कार्यालय में रु 100/- के गैर-न्यायिक स्टाम्प पेपर के साथ इस पत्र के जारी होने की तारीख से दस (10) दिनों के भीतर औपचारिक समझौते पर हस्ताक्षर करने के लिये उपस्थित हों अन्यथा कार्य की स्वीकृति के वापस लेने की संभावना है, और बयाना राशि पूरी जब्त कर ली जाएगी। अतः आपको अनुरोध है कि आप इस कार्यालय के **सह. निदेशक-III** से संपर्क करें तथा कार्य शीघ्र प्रारंभ करें। कृपया ध्यान दें, इस कार्य को करने की अविध जैसा की निविदा फार्म में दर्शाया है, इस आदेश पत्र के जारी होने के दसवें दिन के बाद से मानी जाएगी। आपका दिनांक 29/08/2023 को लिखित पत्र समझौते का हिस्सा होगा।

उप. निदेशंक (उदयान) उद्यान खण्ड-३, दि.वि.प्रा

Copy to:

Director (Hort.) NW, DDA.

Dy. Director (QC) III, DDA.

3. A.O. (W) II, DDA.

A.O. (CAU) Hort., DDA.

Dy. Dir. Hort. II, V, VIII & Dwarka, DDA. ___New. Delhi. Income Tax Commr. W No.

A.D.-III, Hort. Div. - III, DDA.

Comm. Sale Tax. NCT Delhi.

File Concern.

Agreement File.

11. DDA website https://eprocure.gov.in/eprocure/app or www.dda.org.in or cppp-

(उदयान)







fender inviting Authority: DELHI DEVELOPMENT AUTHORITY DY. DIRECTOR (HORT.) III

Name of Work: - M/o Completed scheme of N/A-II under SWZ.

1. M/o Distt. Park at M-Block Vikas Puri.

2. M/o Sports Field at C-Block, Vikaspuri.

3. M/o Park Sanitary Land Fill Pit No. 2 Hastsal Ph.- II.

3. M/o Park Sanitary Land Fill Pit No. 2 Hastsal Ph. II.
4. M/o M.P. Green Area Mango Orchard at Sayed Nangloi Ph.-I. II & III.
5. M/o Distt. Park at G.17 Paschim Vihar at Sayed Nangloi Village.
6. M/o Aff. M.P. Green Area at Hastsal Ph.-I.
7. M/o Sports Field at Hastsal Ph.-II.
Sub Head: S/S of Good earth, Jamuna sand, Digging of holes, etc. at site. Contract No: 011-25507273, NIT No. 06/DD/(Hort.)-III/DDA/2023-24 E.C Rs. 47,38,055/Ithe Biddar/

Name of the Bidder/ Bidding

Firm / Company :

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)

SI.	TEXT #	NUMBER		NUMBER#	NUMBER #	TEXT #
No.	nem Description	Quantity	Units	BASIC RATE In Figures To be entered by the Bidder in Rs. P	TOTAL AMOUNT Without Taxes In Rs. P	TOTAL AMOUNT In Words
1	Supply and stacking of good earth at site including royalty and carriage upto 5 km lead complete (Earth measured in stacks will be reduced by 20% for payment).	1129.50	Cum	180.00	203310.00	INR Two Lakh Three Thousand The Hundred & Ten Only
2	Supply and stacking of Jamuna Sand at site including royalty and carnage by mechanical transport and loading unloading for all lead and lift.	830.50	Cum	380.16	315722.88	INR Three Lakh Fifteen Thousand Seven Hundred & Twenty Two and Paice Eighty Eight Only
3	Supply and Stacking of Red Bajri at site including royalty and carriage by mechanical transport and loading unloading with all lead and lifts.	143.00	Cum	850.00	121550.00	INR One Lakh Twenty One Thousa Five Hundred & Fifty Only
4	Earth work in excavation by mechanical means (Hydraulic Excavator)/manual means over areas (exceeding 30cm in depth. 1.5m in width as well as 10 sqm on plan) including disposal of excavated earth lead up to 50 m and lift up to 1.5 m, as per direction of engineer-in-charge. 5m x 4m x1.5m x 13 Nos= 390 cum (Manure Pit)	390.00	` Cum	60.00	23400.00	INR Twenty Three Thousand Four Hundred Only
5	Supply of Neem oil cake in 40 Kg packing bag at site.	43.00	Per Bag	350.00	15050.00	INR Fifteen Thousand &Fifty Only
6	Supply of chemical fertilizer Neem coated urea in 45 Kg packing at site.	74.00	Per Bag	350.00	25900.00	INR Twenty Five Thousand Nine Hundred Only
7	Digging holes in ordinary soil and refilling the same with the excavated earth mixed with manure or sludge in the ration of 2:1 by volume (2 part of stacked volume of earth after reduction by 20%; 1 part of stacked volume of manure after reduction by 8%) flooding with water dressing including removal of rubbish and surplus earth. If any, with all leads and lift (cost of manure. sludge or extra good earth if needed to paid for separately).					
7.01	Holes 60 cm dia., and 60 cm deep	8350.00	Each	20.00	167000.00	INR One Lakh Sixty Seven Thousand
8	Hiring of J.C.B/Hydraulic excavator (3-D) with driver, fuel and helper etc. for cleaning of wild growth, rs.noval of building rubbish, debris industrial waste and refuse etc. as per direction of Engineer-in-charge.	39.00	Day	7500.00	292500.00	INR Two Lakh Ninety Two Thousand Five Hundred Only
9	Provision of barbed wire	39.00	per quintal	5150.00	200850.00	NR Two Lakh Eight Hundred & Fifty
10	Supply of best quality Agro shade net green colour (50x3m) 75:25 ratio.	4000.00	sqm	10.00		Only NR Forty Thousand Only
11	Providing and applying anti termite treatment of infected trees i/c all branches/leaves by spraying chemical emulsion 0.5% (Chlorpyriphos 20% EC) concentration through power spray machine (@ 100 mt Chlorpyriphos per tree i/c cost or chemical) and as per direction of officer-in-charge and as per direction of officer-in-charge.	850.00	Each tree	19.75	J+	NR Sidsen Thousand Seven fundred & Eighly Seven and Paise iifly Only
12	Providing and fixing of Tuflex Garden fencing Hexagonal net/or equivalent of green colour having contents (Weight grams/sqm. 510 (+/- 8%)) in width of 60 cm. with bamboo of 90 cm. length. The bamboo should be painted with green colour paint of approved brand and manufacture (two or more coats) and fixed 30 cm. below ground level and 60 cm. above ground le el at a distance of 1.50 mtrs. The net and bamboo should be binded with 2 mm. G.I. Wire at three places properly as per direction of Engineer-in-charge.	4150.00	Per Sqm	49.00	203350.00	NR Two Lakh Three Thousand Three

3	PVC Pipe (Delivery Hose) 3" dia should have working pressure of 5kg/cm2	500.00	meter	50.00	25000.00	INR Twenty Five Thousand Only
•	Provision of empty earthen pots for seed bed/nursery:		90000799550			
	Supply of empty earthen pots. Top inside dia 20 cm, outer bottom dia 12 cm, 20 cm perpendicular height size 8" (Special).	1500.00	Each	60.00	90000.00	INR Ninety Thousand Only
4.2	Supply of empty earthen pots. Top inside dia 25 cm, outer bottom dia 15 cm, 25 cm perpendicular height size 10" (Special).	1500.00	Each	50.00	75000.00	INR Seventy Five Thousand Only
4.3	Supply of empty earthen pots. Top inside dia 30 cm, outer bottom dia 20 cm, 30 cm perpendicular height size 12" (Special).	1000.00	Each	40.00	40000.00	INR Forty Thousand Only
14.4	Supply of empty earthen pots. Top inside dia 30 cm, outer bottom dia 15 cm, 25 cm perpendicular height size 12" (Ordinary).	200.00	Each	58.00	11600.00	INR Eleven Thousand Six Hundred Only
15	Preparation of beds for hedging and shrubbery by excavating 60 cm deep and trenching the excavated base to a further depth of 30 cm, refilling the excavated earth after breaking clods and mixing with sludge or manure in the ratio of 8:1 (8 parts of stacked volume of earth after reduction by 20%: one part of stacked volume of sludge or manure after reduction by 8%), flooding with water, filling with earth if necessary, watering and finally fine dressing, leveling etc. including stacking and disposal of materials declared unserviceable and surplus earth by spreading and leveling as directed, within a lead of 50 m, lift up to 1.5 m complete (cost of sludge, manure or extra earth to be paid for separately).	1000.00	· cum	90.00	90000.00	INR Ninety Thousand Only
40	Supply of Moss stick ht. 3 feet at site.	40.00	Each	40.00	1600.00	Only
16		40.00	per kg	90.00	3600.00	INR Three Thousand Six Hundred Only
17	Supply of Moss Grass at site. Supply of Cycle Rickshaw complete fitted on H / Weight kit heavy duty frame with wooden body size 4' x 3' x 1' with portable back and Motor /Cycle wheel with new tyre - tube M.R. F. or Dunlop at site.	1.00	Each	9000.00	9000.00	INR Nine Thousand Only INR Forty Eight Thousand Three
19	Petrol Driven Brush Cutter /Bush Cutter/ Weed Cutter with engine displacement of 40.2 cc with the rated power output of 1.9 kw/2.6hp dry weight 8.0kg overall length without cutting tool 1.77 mtrs., tank capacity 0.67trs anti Vibration engine, elasto start, multi-function bike handle along with std tools & accessories. (STIHL Germany model No. FS 400or	1.00	Each	48300.00	48300.00	Hundred Only INR Thirty Eight Thousand Only
20	Equivalent) Petrol Driven light weight .handy Chain Saw with Engine displacement of 72.0cc with rated output of 3.9kw/5.3hp, dry weight 6.6kg,chain oil tank capacity 0.20ltr, weight to power ratio of 1.7 kg/kw, oilomatic chain of 3/8" rapid micro & guide bar of 50cm along with std tools & accessories. (STIHL Germany make	1.00	Each	38000.00	38000.00	3000055008 SHO
21	model No. MS 381or Equivalent) Supply of Electric Lawn Mower 20" size Complete with frame cutting width (500) roller type, cutting cylinder, bottom blade made of carbon steel & back roller which run on ball bearing complete with single pc front roller & without Clutch function with grass box of CRC sheet complete in all respect with handle & Coupled with 2 H.P Crompton Greaves Single phase Motor. 30 Mtr Wire. (Maruti Lawn Mower	1.00	Each	59000,00	59000.00	INR Fifty Nine Thousand Only INR Thirty Three Thousand Only
22	Makeor Equivalent) Petrol Driven Hand held Hedge Trimmer, Engine displacement of 27.2cc with rated output of 0.7kw/1.0	1.00	Each	33000.00	33000.00	INR Nineteen Thousand Only
23	No. HS45 Double Wheel Trolley made of SINGLE pc Pan of Galvanized Iron of accurate 18 Gauge totally Galvanized Iron of accurate 18 Gauge totally	9 2.00	Each	9500.00	19000.00	
	dismentalable (not weiged from any misses) pipe frame) having frame of CRC pipe with 2 bearing solid rubber wheel size 12 "X 2" In Figures				2168520.38	INR Twenty One Lakh Sixty Eight Thousand Five Hundred & Twenty a Peise Thirty Eight Only
			anti Can I si	kh Sixty Eight Thou	usand Five Hundred & To	wenty and Palse Thirty Eight Or
1	ed Rate In Words	INR TW	enty One La	MI GIAN ENGIN THE	PROPERTY OF THE PROPERTY OF TH	

¥ ...





DELHI DEVELOPMENT AUTHORITY OFFICE OF THE DY. DIR. HORT. DIV. III B2B JANAK PURI NEW DELHI -58

General Terms & Conditions

Name of work: M/o complete scheme of N/A - II under SWZ.

M/o Distt. Park at M-Block Vikas Puri.2. M/o Sports Field at C-Block, Vikaspuri.3. M/o Park Sanitary Land Fill Pit No. 2 Hastsal Ph. II. 4. M/o M.P. Green Area Mango Orchard at SayedNangloi Ph.-I, II & III.5. M/o Distt. Park at G-17 Paschim Vihar at SayedNangloi Village.6. M/o Aff. M.P. Green Area at Hastsal Ph.-I.7. M/o Sports Field at Hastsal Ph.- II.

Sub Head: S/S of Good earth, Jamuna sand, Digging of holes, etc. at site.

- 1. The work shall be executed as per CPWD specification
- 2. No T & P shall be issued to the contractor by the department against this work.
- 3. The rates should be quoted in both figures and words inclusive of all taxes.
- The undersigned reserves the right to reject all or even lowest tender without assigning any reason.
- 5. All labour liabilities will be beard by the contractor during execution period, DDA will not have any responsibility of the deployed labour.
- 6. DDA is not responsible for any litigation with labour in court of law and contractor will settle the matter at his/her own risk & cost.
- 7. DDA will not pay any compensation to labour if any miss-happening occurs during the execution of work.
- 8. If any material is rejected or work found defective, the same shall be removed/rectified by the contractor within one week failing which the same shall be removed/rectified by the department and cost will be recovered from the agency as approved by the competent authority.
- 9. The quantity can be increased or decreased as per actual requirement at site.
- 10. No manpower shall be engaged by the agency below 18 year or above 60 years in age.
- 11. The instructions of the department staff have to be carried over properly. In case of any difference of opinion/interpretation of specification and condition the matter shall be referred by the contractor to the officer-in-charge for his decision which shall be final and binding.
- 12. All incident charges of any kind whatsoever including cartage, storage, cutting and wastage etc. shall be borne exclusively by the contractor and no claim shall be entertained to this effect.
- 13. The contractor must be available at site of work whenever officer-in-charge visit the site.
- 14. The work should be completed within stipulated period.
- 15. The pH value of good earth and pressure report of R. H. Pipe should be got tested from authorized laboratory on contractor cost.
- 16. The material like Good earth, CDM, should be free from kankar pathar, polythene etc. CDM should be well decomposed.
- 17. The plants/grass supplied should be in good quality, healthy and free from disease.
- 18. The contractor/tenderer must be enlisted as horticulture category contractor.
- 19. The contractor should be supply the total quantity of all items mentioned in schedule of quantity/agreement. If contractor failed to supply the material as per agreement or as per direction of officer-in-charge, then the recovery shall be made as per justified rate.

Hort, Div.- III/DDA



दिल्ली विकास प्राधिकरण उप-निदेशक कार्यालय, उद्यान खण्ड – तृतीय बी2बी, जनकपुरी, नई दिल्ली-110058



संख्या. F54 (09) DD/Hort. III/DDA/2023-24/ 1056

To

दिनाँक: 06/09/2023

M/S MAHESH CHAND GUPTA, POCKET D6, HOUSE NO. 360, 1ST FLOOR SECTOR 6, ROHINI, NEW DELHI-110085.

Name of work: M/o complete scheme of N/A - II under SWZ.

M/o Gobind Behari Lal Park, F-Block, Vikaspuri.2. M/o Zonal green area at Keshopur.3. M/o Distt. Park South of Rohtak Road Paschim Vihar(near GH-5 & 7).4. M/o Distt. Park along with NG Drain Budella, VikasPuri.5. M/o Distt. Park outer fall drain along with PankhaRoad Budella, Vikas Puri.6. M/o Park RSP/NHP at CGHS Budella, VikaspuriPh.-I (Near DG-2 Gauri Shankar Mandir).7. M/o Park RSP/NHP at CGHS Budella, VikasPuriPh.- II (Near Gangotri Apartment).

Sub Head: S/S of Good earth, Jamuna sand, Red bajri, Digging of holes etc. at site.

Ref.: FDR/Bank A/c No. 21180300059531 and FD Advice No. FDR2308230243 dated 23-08-2023 Amount Rs. 105000/- From Bank Of Baroda, Naharpur Branch, Sec-7, Rohini, Naharpur, New Delhi-

दि.वि.प्रा की ओर से उपर्युक्त कार्य के लिए आपके द्वारा उद्धृत मद/प्रतिशत दर निविदाएं निम्नानुसार स्वीकार की गई

अन्मानित लागत ः

₹ 47,09,952.00/-

ठेकेदार उद्धत राशि

₹ 20,82,226.00/-

स्वीकृत निविदा राशि

₹ 20,82,226.00/- (रु बीस लाख बयासी हजार दो सौ छब्बीस

केवल)

निविदा का प्रतिशत :

55.79% (अनुमानित लागत से नीचे).

समय की अनुमति

60 दिन

खंड (clause)-12 के प्रयोजन हेतु ली जाने वाले मद/कार्य डी.एस.आर-2020/बाजार दरों के आधार पर 55.79% नीचे है। आपसे अनुरोध है आप इस कार्यालय में रु 100/- के गैर-न्यायिक स्टाम्प पेपर के साथ इस पत्र के जारी होने की तारीख से दस (10) दिनों के भीतर औपचारिक समझौते पर हस्ताक्षर करने के लिये उपस्थित हों अन्यथा कार्य की स्वीकृति के वापस लेने की संभावना है, और बयाना राशि पूरी जब्त कर ली जाएगी। अतः आपको अनुरोध है कि आप इस कार्यालय के सह. निदेशक-III से संपर्क करें तथा कार्य शीघ्र प्रारंभ करें। कृपया ध्यान दें, इस कार्य को करने की अवधि जैसा की निविदा फार्म में दर्शाया है, इस आदेश पत्र के जारी होने के दसवें दिन के बाद्र से मानी जाएगी। आपका दिनांक 29/08/2023 को लिखित पत्र समझौते का हिस्सा होगा।

> उप. निदेशक (उद्यान) उद्यान खण्ड-३, दि.वि.प्रा

Copy to:

- 1. Director (Hort.) NW. DDA.
- Dy. Director (QC) III, DDA.
- 3. A.O. (W) II, DDA.
- A.O. (CAU) Hort., DDA.
- Dy. Dir. Hort. II. V. VIII & Dwarka, DDA.
- Income Tax Commr. W No. ____New. Delhi.
- A.D.-III, Hort. Div. III, DDA.
- Comm. Sale Tax. NCT Delhi.
- File Concern.
- 10. Agreement File.

11. DDA website https://eprocure.gov.in/eprocure/app or www.dda.org.in or cppp-nic@nic.in







Item Rate BoQ

Tender Inviting Authority: DELHI DEVELOPMENT AUTHORITY DY. DIRECTOR (HORT.) III

Name of Work: - M/o Completed scheme of N/A-II under SWZ.

(i) M/o Gobind Behari Lal Park, F-Block Vikaspuri.

(ii) M/o Zonal green area at Keshopur.

(iii) M/o Distt. Park South of Rohtak Road Paschim Vihar (near GH-5&7).

(iv) M/o Distt. Park along with NG Drain Budella, Vikaspuri

(v) M/o Distt. Park along with Pankha Road outer drain fall Budhella Vikas Puri.

(vi) M/o Park RSP/NHP at CGHS Budhella Vikas Puri Ph.- I (Near DG-2 Gauri Shankar Mandir).

(vii) M/o Park RSP/NHP at CGHS Budhella Vikas Puri Ph.- II (Near Gangotri Apartment).

Sub Head: S/S of Good earth, Jamuna sand, Red bajri, Digging of holes etc. at site.

Contract No: 011-25507273, NIT No. 07/DD/(Hort.)-III/DDA/2023-24 E.C Rs. 47,09,952/-Name of m/s mahesh chand gupta.

Name of the Bidder/ Bidding Firm /

Company:

PRICE SCHEDULE

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)

UMBER#	TEXT#	NUMBER#	TEXT#	NUMBER #	NUMBER#
SI. No.	Item Description	Quantity	Units	BASIC RATE In Figures To be entered by the Bidder in Rs. P	TOTAL AMOUNT Without Taxes in Rs. P
1	Supplying & Stacking of good earth at site including royaltiy and carriage upto 5 km lead complete (earth measured in stacks will be reduced by 20 % for payment).	693.00	Cum	120.00	83160.00
2	Supply and stacking of Jamuna Sand i/c royalty carriage and loading, unloading for all lead and lift at site.	517.00	Cum	390.00	201630.00
3	Supply and Stacking of Red Bajri at site including royalty and carriage by mechanical transport and loading unloading with all lead and lifts.	41.00	Cum	500.00	20500.00
4	Digging holes in ordinary soil and refilling the same with the excavated earth mixed with manure or sludge in the ration of 2:1 by volume (2 part of stacked volume of earth after reduction by 20%: 1 part of stacked volume of manure after reduction by 8%) flooding with water dressing including removal of rubbish and surplus earth. If any, with all leads and lift (cost of manure, sludge or extra good earth if needed to paid for separately).			X.	
4.1	Holes 60 cm dia, and 60 cm deep	9700.00	Each	20.00	194000.00
5	Provision of bonemeal at site	5.00	Bag	40.00	200.00
6	Provision of cocopit	40.00	Bricks	250.00	10000.00
7	Bamboo (25mm dia and 2.5m long)	20.00	Score	1200.00	24000.00
8	Earth work in excavation by mechanical means (Hydraulic Excavator)/manual means over areas (exceeding 30cm in depth. 1.5m in width as well as 10sqm on plan) including disposal of excavated earth lead up to 50m and lift up to 1.5m, as per direction of engineer-in-charge.		Cum	50.00	28200.00
9	layer at site	200.00	Kg	150.00	30000.00
10	Supply of polythene bags size 6"x8"(gauge 175) bott layer at site	200.00	Kg	150.00	, 30000.00

20					
11	Providing and fixing of Tuflex Garden fencing Hexagonal net/or equivalent of green colour having contents (Weight grams/sqm. 510 (+/- 8%)) in width of 60 cm. with bamboo of 90 cm. length. The bamboo should be painted with green colour paint of approved brand and manufacture (two or more coats) and fixed 30 cm. below ground level and 60 cm. above ground level at a distance of 1.50 mtrs. The net and bamboo should be binded with 2 mm. G.I. Wire at three places properly as per direction of Engineer-in-charge.	3750.00	Sqm.	80.00	300000.00
12	Engaging of J.C.B./Hydraulic excavator (3-D) with driver, fuel and helper etc. for cleaning of wild growth, removal of building rubbish, debris industrial waste and refuse etc. as per direction of Engineer-in-charge.	46.00	Day	7500.00	345000.00
13	Preparation of beds for hedging and shrubbery by excavating 60 cm deep and trenching the excavated base to a further depth of 30 cm, refilling the excavated earth after breaking clods and mixing with sludge or manure in the ratio of 8:1 (8 parts of stacked volume of earth after reduction by 20%: one part of stacked volume of sludge or manure after reduction by 8%), flooding with water, filling with earth if necessary, watering and finally fine dressing, leveling etc. including stacking and disposal of materials declared unserviceable and surplus earth by spreading and leveling as directed, within a lead of 50 m, lift up to 1.5 m complete (cost of sludge, manure or extra earth to be paid for separately)	470.00	Cum	80.00	37600.00
14	Supply of best quality Agro shade net green color (50m x 3m) 75:25 (Sunshade).	2100.00	Sqm.	10.00	21000.00
15	Supply of Neem oil cake in 40 kg packing bag at site.	107.00	Bag	120.00	12840.00
16	Supply of Chemical fertilizer Neem coated urea in 45 kg packing at site.	155.00	Bag	250.00	38750.00
17	Provision of barbed wire	20.00	Per qtl	5220.00	104400.00
18	Providing and laying Neelgiri/Mexican grass turf with earth 50mm to 60mm thickness of existing ground prepared with proper level and ramming with tools wooden (Dhurmos) and than rolling the surface with light roller make the surface smoothen and light waterning with sprinkler and maintenance for 30 days or more till the grass establish properly, as per direction of officer-in-charge.	5047.00	Per sqm	100.00	504700.00
19	Renovating lawns including weeding, cheeling the grass, forking the ground, top dressing with sludge or manure, mixing the same with forked soil, watering and maintaining the lawn for 30 days or more till the grass forms a thick lawn free from weeds and fit for mowing and disposal of rubbish as directed, including supplying good earth if needed (the cost of sludge, manure and the good earth shall be paid for separately).	4047.00	Each	18.00	72846.00
	Providing and applying anti termite treatment of infected trees i/c all branches/leaves by spraying chemical emulsion 0.5% (Chlorpyriphos 20% EC) concentration through power spray machine (@ 100	2600.00	Each tree	9.00	23400.00
20	ml Chlorpyriphos per tree i/c cost of chemical) and as per direction of officer-in-charge and as per direction of officer-in-charge.				





DELHI DEVELOPMENT AUTHORITY OFFICE OF THE DY. DIR. HORT. DIV. III B2B JANAK PURI NEW DELHI -58

General Terms & Conditions

Name of work: M/o complete scheme of N/A – II under SWZ.

M/o Gobind Behari Lal Park, F-Block, Vikaspuri.2. M/o Zonal green area at Keshopur.3. M/o Distt. Park South of Rohtak Road Paschim Vihar(near GH-5 & 7).4. M/o Distt. Park along with NG Drain Budella, VikasPuri.5. M/o Distt. Park outer fall drain along with PankhaRoad Budella, Vikas Puri.6. M/o Park RSP/NHP at CGHS Budella, VikasPuriPh.-I (Near DG-2 Gauri Shankar Mandir).7. M/o Park RSP/NHP at CGHS Budella, VikasPuriPh.- II (Near Gangotri Apartment). Sub Head: S/S of Good earth, Jamuna sand, Red bajri, Digging of holes etc. at site.

- 1. The work shall be executed as per CPWD specification
- 2. No T & P shall be issued to the contractor by the department against this work.
- 3. The rates should be quoted in both figures and words inclusive of all taxes.
- 4. The undersigned reserves the right to reject all or even lowest tender without assigning any reason.
- 5. All labour liabilities will be beard by the contractor during execution period, DDA will not have any responsibility of the deployed labour.
- 6. DDA is not responsible for any litigation with labour in court of law and contractor will settle the matter at his/her own risk & cost.
- 7. DDA will not pay any compensation to labour if any miss-happening occurs during the execution of work.
- 8. If any material is rejected or work found defective, the same shall be removed/rectified by the contractor within one week failing which the same shall be removed/rectified by the department and cost will be recovered from the agency as approved by the competent authority.
- 9. The quantity can be increased or decreased as per actual requirement at site.
- 10. No manpower shall be engaged by the agency below 18 year or above 60 years in age.
- 11. The instructions of the department staff have to be carried over properly. In case of any difference of opinion/interpretation of specification and condition the matter shall be referred by the contractor to the officer-in-charge for his decision which shall be final and binding.
- 12. All incident charges of any kind whatsoever including cartage, storage, cutting and wastage etc. shall be borne exclusively by the contractor and no claim shall be entertained to this effect.
- 13. The contractor must be available at site of work whenever officer-in-charge visit the site.
- 14. The work should be completed within stipulated period.
- 15. The pH value of good earth and pressure report of R. H. Pipe should be got tested from authorized laboratory on contractor cost.
- 16. The material like Good earth, CDM, should be free from kankar pathar, polythene etc. CDM should be well decomposed.
- 17. The plants/grass supplied should be in good quality, healthy and free from disease.
- 18. The contractor/tenderer must be enlisted as horticulture category contractor.
- 19. The contractor should be supply the total quantity of all items mentioned in schedule of quantity/agreement. If contractor failed to supply the material as per agreement or as per direction of officer-in-charge, then the recovery shall be made as per justified rate.

Hort, Div. MI/DDA